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Solving Percentage Problems
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              Show Process                                      CIRCLE
1.   15% of 75 = __________                                                    1.  15% of 75 = __________    


2.   5% of ________ = 120                                                         2.  5% of ________ = 120   

3.   35 out of  80 = __________  %                                               3.  35 out of  80 = __________  %
4.   What percent of 88 is 33?  ________                                  4. What percent of 88 is 33? ________

5.   What number is 135% of  163?  ______                             5. What number is 135% of  163? ____ 


6.   44 is .3% of what number? ________                                 6.  44 is .3% of what number? _______


                             For Questions 7-10:     Let x = 60

7.  What percent of 130 is (2x (100)? ______                         7. What percent of 130 is (2x (100)? 

8.  What number is 2% of (x + 23)? ________                         8. What number is 2% of (x + 23)? 

9. 85.2 is (3x ( 122)% of what number? _______                    9. 85.2 is (3x ( 122)% of what number?


10. Let y = 20% of  x. What is 65% of  y ?  ________            10. Let y = 20% of  x. What is 65% of  y ?     

20% of 360 = x





20% of x = 72





72 out of 360 = x %
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